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1. TORMENT (NOUN) : (YTcIT) : agony

Synonymes: suffering, torture

Antonyms: pleasure

Example Sentence: Their deaths have left both families in torment.

=> Vocab of the day :-

2. SOUR (ADJECTIVE) : (IRISTTIST) : nasty
Synonyms: resentful, embittered
Antonyms: pleasant

Example Sentence: He gave her a sour look.

3. THWART (VERB) : (fA®d &) : foil

Synonyms: frustrate, balk

Antonyms: assist

Example Sentence: She did all she could to thwart his plans.
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ENGLISH GRAMMAR
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(1) :- Read the whole passage carefully.

STRATEGY :-

(2) :- Try to understand the basic
meaning of the given passage.

(3) :- Eliminate the options which are not
related to the passage.

(4) :- Understand every single sentence carefully.



ENGLISH GRAMMAR
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Directions (1-5) : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

In a strange , the production and the consumption of the event become cause for
concern. ............... wonders whether newer forms of “non-caring” or violence are

appearing. Somehow, silence, even ..............., quietly suppresses a meditation on such

events. ............... a professor, | can recollect the number of occasions when my students
have cried as we discussed such events in class. ..............., society seems so indifferent.

Q1. In a strange

(a) way (b) form

(c) step (d) method
Sol. Option (a)




ENGLISH GRAMMAR
CLOZE TEST

Directions (1-5) : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

In a strange , the production and the consumption of the event become cause for
concern. ............... wonders whether newer forms of “non-caring” or violence are
appearing. Somehow, silence, even ..............., quietly suppresses a meditation on such
events. ............... a professor, | can recollect the number of occasions when my students

have cried as we discussed such events in class. ..............., society seems so indifferent.

Q2. ............... wonders whether newer forms of “non-caring” or violence are appearing.
(a) Anyone (b) One

(c) Someone (d) Somebody

Sol. Option (b)




ENGLISH GRAMMAR
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Directions (1-5) : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

In a strange , the production and the consumption of the event become cause for
concern. ............... wonders whether newer forms of “non-caring” or violence are

appearing. Somehow, silence, even ..............., quietly suppresses a meditation on such

events. ............... a professor, | can recollect the number of occasions when my students
have cried as we discussed such events in class. ..............., society seems so indifferent.

Q3. Somehow, silence, even ..............., quietly suppresses a meditation on such events.
(a) attention (b) bias

(c) regard (d) indifference

Sol. Option (d)




ENGLISH GRAMMAR
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Directions (1-5) : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

In a strange , the production and the consumption of the event become cause for
concern. ............... wonders whether newer forms of “non-caring” or violence are

appearing. Somehow, silence, even ..............., quietly suppresses a meditation on such

events. ............... a professor, | can recollect the number of occasions when my students
have cried as we discussed such events in class. ..............., society seems so indifferent.

Qa. ............... a professor,
(a) Like (b) Alike

(c) As (d) Being
Sol. Option (c)




ENGLISH GRAMMAR
CLOZE TEST

Directions (1-5) : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out of
the four alternatives.

In a strange , the production and the consumption of the event become cause for
concern. ............... wonders whether newer forms of “non-caring” or violence are

appearing. Somehow, silence, even ..............., quietly suppresses a meditation on such

events. ............... a professor, | can recollect the number of occasions when my students
have cried as we discussed such events in class. ..............., society seems so indifferent.

Qs. ..o , society seems so indifferent.
(a) Yet (b) Thus

(c) Hence (d) So

Sol. Option (a)
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Directions (6-10) : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out
of the four alternatives.

This argument is completely and shows very little understanding
educations. The costs quoted for private schools, one, have no reliable source of data and,
, they discount two kinds of hidden costs—to the family and the nation.

Often the cost of education in private schools is ............... with the free per child.

Q6. This argument is completely
(a) incredible (b) spurious

(c) amazing (d) inadequate
Sol. Option (b)




ENGLISH GRAMMAR
CLOZE TEST

Directions (6-10) : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out
of the four alternatives.

This argument is completely and shows very little understanding
educations. The costs quoted for private schools, one, have no reliable source of data and,
, they discount two kinds of hidden costs—to the family and the nation.

Often the cost of education in private schools is ............... with the free per child.

Q7. shows very little understanding education.
(a) of (b) for

(c) with (d) toward

Sol. Option (a)




ENGLISH GRAMMAR
CLOZE TEST

Directions (6-10) : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out
of the four alternatives.

This argument is completely and shows very little understanding
educations. The costs quoted for private schools, one, have no reliable source of data and,
, they discount two kinds of hidden costs—to the family and the nation.

Often the cost of education in private schools is ............... with the free per child.

Q8. one, have no reliable source of data and , they discount two kinds of hidden
costs

(a) twice (b) both

(c)two  (d) secondly

Sol. Option (c)




ENGLISH GRAMMAR
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Directions (6-10) : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out
of the four alternatives.

This argument is completely and shows very little understanding
educations. The costs quoted for private schools, one, have no reliable source of data and,
, they discount two kinds of hidden costs—to the family and the nation.

Often the cost of education in private schools is ............... with the free per child.

Q9. to the family and the nation.
(a)to (b) of

(c) for (d) about

Sol. Option (a)




ENGLISH GRAMMAR
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Directions (6-10) : In the following passage, some of the words have been left out. Read the
passage carefully and select the correct answer for the given blank out
of the four alternatives.

This argument is completely and shows very little understanding
educations. The costs quoted for private schools, one, have no reliable source of data and,
, they discount two kinds of hidden costs—to the family and the nation.

Often the cost of education in private schools is ............... with the free per child.

Q10. Often the cost of education in private schools is with the fee per child.
(a) equation (b) equates

(c) equating  (d) equated

Sol. Option (d)
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Directions (11-15) : In the following passage, some of the words have been left out. Read
the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We also need to work towards a re-engineering of procedures. It that fear of
being scrutinized by the office of the Central Vigilance Commissioner has
officers in the public sector into inaction. It is no use having a publicly-owned

banking that does not extend credit to sound projects on grounds of
scrutiny.

Qll. It ............... that fear of being scrutinized by the office.
(a) has been suggested  (b) were suggested

(c) are being suggested  (d) is suggesting

Sol. Option (a)




ENGLISH GRAMMAR
CLOZE TEST

Directions (11-15) : In the following passage, some of the words have been left out. Read
the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We also need to work towards a re-engineering of procedures. It that fear of
being scrutinized by the office of the Central Vigilance Commissioner has
officers in the public sector into inaction. It is no use having a publicly-owned

banking that does not extend credit to sound projects on grounds of
scrutiny.

Q12. Central Vigilance Commissioner has
inaction.

(a) encouraged (b) emboldened

(c) petrified (d) energized

Sol. Option (c)




ENGLISH GRAMMAR
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Directions (11-15) : In the following passage, some of the words have been left out. Read
the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We also need to work towards a re-engineering of procedures. It that fear of
being scrutinized by the office of the Central Vigilance Commissioner has
officers in the public sector into inaction. It is no use having a publicly-owned

banking that does not extend credit to sound projects on grounds of
scrutiny.

Q13. ltis ............... no use having a publicly-owned banking.
(a) for (b) of

(c) as (d) to

Sol. Option (b)




ENGLISH GRAMMAR
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Directions (11-15) : In the following passage, some of the words have been left out. Read
the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We also need to work towards a re-engineering of procedures. It that fear of
being scrutinized by the office of the Central Vigilance Commissioner has
officers in the public sector into inaction. It is no use having a publicly-owned

banking that does not extend credit to sound projects on grounds of
scrutiny.

Q14. ............... that does not extend credit
(a) system (b) scheme

(c) structure (d) ideology

Sol. Option (a)
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Directions (11-15) : In the following passage, some of the words have been left out. Read
the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We also need to work towards a re-engineering of procedures. It that fear of
being scrutinized by the office of the Central Vigilance Commissioner has
officers in the public sector into inaction. It is no use having a publicly-owned

banking that does not extend credit to sound projects on grounds of
scrutiny.

Q15. Sound projects on grounds of
(a) pensive (b) retrospective
(c) reflective (d) contemplative
Sol. Option (b)







